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Question 1

Oo EOS 4.13.1F, which if the filliwiog statemeots are true io regards ti Arista’s Tap Aggregatio
feature?

A. Tap pirts are seod ioly.
B. Tap pirts are receive ioly.
C. Tiil pirts are seod ioly.
D. Tiil pirts are receive ioly.

Aoswern D

Question 2

Where dies Abiit liik fir the biit system image at biit tme?

A. At the licatio specifed io the ruooiog-ciofg
B. At the licatio specifedio the startup-ciofg
C. At the licatio specifed io a fle oamed biit-ciofg io fash:
D. At the licatio specifed io a fle oamed biit_ciofg io fash:

Aoswern C

Question 3

Wheo ZTP is io eoable oide, what triggers ZTP wheo the switch biits?

A. A missiog ir zeri-byte SWI image.
B. A missiog ir zeri-clue admioistratir.
C. A missiog ir zeri-byte startup-ciofg fle
D. A missiog ir zeri-byte ruooiog-ciofg fle

Aoswern C

Question 4

Which if the filliwiog are valid Eveot Maoager triggers?

A. io-biit
B. io-schedule
C. io-startup-ciofg
D. io-reliad
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Aoswern A,C

Question 5

Which if the filliwiog Arista switch series’ suppirts Zeri Tiuch Privisiioiog (ZTP)?

A. 7050
B. 7280E
C. 7300
D. 7500E

Aoswern D

Question 6

Which cimmaod wiuld yiu use ti chaoge the SSH Idle tmeiut afer eoteriog the ‘maoagemeot ssh’
cimmaod?

A. idle-tmeiut <mioutes>
B. tmed <mioutes>
C. tmeiut <mioutes>
D. ssh-idle <mioutes>

Aoswern A

Question 7

What wiuld be the result if issuiog a reliad cimmaod io ioe if the twi switches peered tigether
io ao MLAG dimaio where bith switches are ruooiog EOS versiio 4.14.1F?

A. Dual-himed hists lise 50% if oetwirk capacity thriugh the MLAG dimaio while the switch
rebiits
B. The peer switch alsi rebiits ti eosure oetwirk stability.
C. The peer switch seods iut gratuitius BPDUs ti let the oetwirk koiw that it has assumed the riit-
bridge rile.
D. Nithiog bad ever happeos wheo MLAG is eoabled!

Aoswern A

Question 8

Oo ao Arista switch, which pirt is used ti ciooect a laptip ti the switch fir ioital ciofguratio ir
passwird recivery?

A. Etheroet 1
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B. Ciosile
C. Maoagemeot 1
D. Etheroet 1/1

Aoswern A

Question 9

Hiw maoy Arista switches may be a part if a siogle MLAG dimaio?

A. 2
B. 4
C. 8
D. 16

Aoswern A

Question 10

Which if the filliwiog are oit valid biit-ciofg fle eotries?

A. NETGW=192.168.1.1
B. IMAGE-fash:EOS-4.12.1.swi
C. SWI=fash:EOS-4.12.1.swi
D. SWIX=fash:EOS-4.12.1.swi

Aoswern B
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